			Date:			Date:	010x	Date:
			Sign:			Sign:	June 1 or	Sign:
	n	Approved by Director/E&D team	Approved by Di			Approved by QS team	Approved by project manager	Approved by
								Remarks:
16,829	s for work done	Total amount including taxes for work done	Total amoun			-		
0	18.00%	Add GST @						
16,829	20% of the material cost	20% of th						
84,143	Total							
800	32.00	PB167	No's	25.00	100.00	wall bracket		
1,100	22.00	PB167	No's	50.00	50.00	U-clamp		
1,300	13.00	PB167	No's	100.00	10.00	Anchor bolt		
3,310	331.00	PB167	No's	10.00	40.00	Union		
2,490	830.00	PB167	No's	3.00	40.00	FTA		
3,285	1095.00	PB167	No's	3.00	40.00	CPVC ball valve		
8,487	2829.00	PB167	No's	3.00	40.00	Ball valve (GI)		
900	150.00	PB167	No's	6.00	40.00	GI nipple		
795	159.00	PB167	No's	5.00	50.00	solvent (ml)		
2,116	52.90	PB167	No's	40.00	40.00	coupling		
5,160	172.00	PB167	No's	30.00	40.00	long bend	Inlet pipe connection from main line to OHT.	
							10 to 25% can be paid on these rates.	
54,400	680.00	PB167	No's	80.00	40.00	CPVC pipe	E-block Miscellaneous works. Pay based on material cost. For small works less than Rs. 10,000/-, additional	j and
Amount	Rate	Rate ID	Units	Qty	Size (mm)	Details of work	Unit/floor no	Sl. No.
	No	ed?	GST bill required?			Contractor bill no.	NA	WO date
	No		WO issued?		30-07-2025	Work done to date	NA	WO no.
			M-codex bill ID.		25-07-2025	Work done from date 25-07-2025	E-block	Block no.
05.08.2025		-	Dt. site bills reg.		E-block inlet pipe connection	Nature of work	GMR	Project/site
4097		reg.	Sl. No. site bills reg.		Srujana	Name of contractor	MRMULP	Company:

Notes: 1. This sheet replaces installific report and advice for credit to contractors. 2. This word form must be typed. 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if required i.e., details cannot be entered above. 5. For bill amount greater than 10k QS manager and directors approval is required. 6. For bill amount less than 10k any QS team member may sign and in place of director sign of respective E&D member to be taken. 7. Director include – Scham, Anand Mehta (for GHT + GMR), Sachin (for Vivopolis), B. anand Kumar (for NGH + NRK). 8. Entry of rate ID is mandatory. 9. This sheet must be sent within 2 working days of work completion (with or without contractors bill). 10. Contractors to send scanned copy of bill to site and QS by email. 11. Contractors must submit original bills at HO (can be sent by courter).

ENTIMATE SHEET MRMLLP Manual Residency Manu				nine rupees only.	t hundred and twenty	Sixteen thousand eight hundred and twenty nine ru	Amount in words:	
MATE SHEET MRMLLP Approved by: Approved by: Almed Khan str. N Name: Columbahar Residency Sign: Almed Khan treed by: Columbahar Residency MA Sign: Almed Khan bescription: E-block linker pipe connection from main lines to OHT. Item Description Size Oty Units Rate Amount S No. Item Head Item Description Size Oty Units Rate Amount S No. Item Head Item Description Size Oty Units Rate Amount S No. Item Head Item Description Size Oty Units Rate Amount S No. Item Head Item Description 40.00 80.00 Nots 172.00 MA S No. Item Head 40.00 30.00 Nots 172.00 40.00 40.00 Nots 172.00 40.00 40.00 Nots 172.00 40.00 Nots 172.00 40.00 Nots 172.00 40.00								
MATE SHEET MRMALE SHEET Approved by: Approved by: Almed Khan atter, Name: InfoRnhar Residency Sign: Almed Khan Description: E-block liker pipe connection from main lines to OHT. MA MA Almed Khan S No. I term Head Item Description Size Oty Units Rate Amount S No. I cost Fore Miscollaneous works: By based on material CPVC pipe 40.00 80.00 No's 112.00 112.00 No's 112.00 Amount Amount Sign: Amount Am	16,829	taxes for work done	otal amount including	1				
MATE SHEET MRMALP MRMALP MRMALP MRMALP MRMALP Approved by: A proved by: <th>0</th> <th>Add 18% GST</th> <th></th> <th></th> <th></th> <th></th> <th></th> <th></th>	0	Add 18% GST						
MATE SHEET MRRHLP Approved by: Approved by: Approved by: Annet Khan anny Name: MRRHLP Approved by: Approved by: Approved by: Annet Khan Description: E-block inlet pipe connection from main lines to OHT. Item Description Size Qy Vinits MA Annet Khan S No. Item Head Item Description Size Qy Units Rate Announ I cost For small works less than Rs. 10,000/, additional 10 cost For small works less than Rs. 10,000/, additional 10 coupling CPVC pipe 40.00 80.00 No's 172.00 40.00 80.00 No's 172.00 20.00 172.00 20.00	16,829	6 of the material cost	Total amount 20%					
MATE SHEET MRMLLP Approved by: Approved by: Approved by: Annot Ann	84,143	Total						
MATE SHEET MRMALLEY Medical content Medical content Medical content Medical content Medical content Medical content Mapproved by: Approved by: Almed Khan ct: Glumohar Residency 500,000,000 51	800	32.00	0 No's	25.0	100.00	wall bracket		
MATE SHEET MRMLLP Approved by:	1,100	22.00	0 No's	50.00	50.00	U-clamp		
MATE SHEET MRMLLP MRMLLP	1,300	13.00	0 No's	100.00	10.00	Anchor bolt		
MATE SHEET MRMILLP MRMILLP Approved by: Approved by: Almed Khan ct: Gulmohar Residency 5 ign: 4 med Khan ct: Gulmohar Residency 5 ign: 5 ign: 4 med Khan actor Name: Srujana 5 ign: 4 med Khan MA MA 5 ign: 4 med Khan actor Name: 1 ign: 1 ign: MA MA MA 6 med Khan 6 med Khan MA MA 6 med Khan 6 med Khan MA 6 med Khan MA 6 med Khan 6 med Khan MA 6 med Khan 6 med Khan </td <td>3,310</td> <td>331.00</td> <td>0 No's</td> <td>10.00</td> <td>40.00</td> <td>Union</td> <td></td> <td></td>	3,310	331.00	0 No's	10.00	40.00	Union		
MATE SHEET MRMLLP description description <th< td=""><td>2,490</td><td>830.00</td><td>0 No's</td><td>3.00</td><td>40.00</td><td>FTA</td><td></td><td></td></th<>	2,490	830.00	0 No's	3.00	40.00	FTA		
MATE SHEET MRMLLP description: Exhock inlet pipe connection from main lines to OHT. description: Exhock inlet pipe connection from main lines to OHT. Size Qty Vinits Annou S No. Item Pead on these rates. Exhock inlet pipe connection from main line to OHT. Item Description Size Qty Units Rate Annou S No. Item Head Exhock Miscellaneous works Pay, based on material loost. For small works less than 1,0000/-, additional loost. Governor tables rates. CPVC pipe 40.00 80.00 No's Rate Annou I loot 25% can be paid on these rates. Indict pipe connection from main line to OHT. long bend 40.00 80.00 No's 680.00 80.00 No's 52.90 172.00 172.00 172.00 172.00 152.00 152.00 152.00 152.00 152.00 152.00 152.00 152.00 152.00 152.00 152.00 152.00 152.00 152.00 152.00 152.00 152.00 152.00 152.00<	3,285	1095.00	0 No's	3.00	40.00	CPVC ball valve		
MATE SHEET MRMLLP designation End of the pipe connection from main lines to OHT. description Sign: Ahmed Khan Ahmed Khan NA NA Max Max Ahmed Khan NA Max Ahmed Khan NA Amount of them Head Amount of them Head Amount of them Pescription Size Qty Units Rate Amount of them Amount of them Pescription Amount of them Pescription Amount of them Pescription Size Qty Units Amount of them Amount of them Pescription	8,487	2829.00	0 No's	3.00	40.00	Ball valve (GI)		
MATE SHEET MRMILLP descriptions E-block inlet pipe connection from main lines to OHT. E-block inlet pipe connection from main lines to OHT. E-block inlet pipe connection from main lines to OHT. E-block inlet pipe connection from main lines to OHT. MA	900	150.00	0 No's	6.00	40.00	GI nipple		
MATE SHEET MRMILP MRMILP Approved by: Approved by: Almed Kh ct: Gulmohar Residency 5ign: Approved by: Almed Kh Description: E-block inlet pipe connection from main lines to OHT. 5ign: Ma Ma Pescription: E-block inlet pipe connection from main lines to OHT. Na Na Ma Ma Pescription: E-block inlet pipe connection from main lines to OHT. Item Description Na Na Ma Ma Ma Stops: Oty Units Rate Amount S No. Item Head Item Description Size Oty Units Amount E-block Miscellaneous works: Pay based on material 10 to 25% can be paid on these rates. Include paid on these rates. Amount 4000 No's No's 680.00 No's 680.00 <t< td=""><td>795</td><td>159.00</td><td>0 No's</td><td>5.00</td><td>50.00</td><td>solvent (ml)</td><td></td><td></td></t<>	795	159.00	0 No's	5.00	50.00	solvent (ml)		
MATE SHEET MRMLLP description: MRMLLP Approved by: Approved by: Ahmed Kh. ct: Gulmohar Residency 5ign: Ahmed Kh. ct: Cescription: E-block inlet pipe connection from main lines to OHT. MA NA NA Maned Kh. arctor Name: Srujana MA NA NA NA MA	2,116	52.90	0 No's	40.00	40.00	coupling		
MATE SHEET MRMLLP Ahmed Kh ct: Gulmohar Residency 4hmed Kh Description: E-block inlet pipe connection from main lines to OHT. Sign: MA actor Name: Srujana NA NA Ahmed Khan NA NA NA SNo. Item Head Item Description Size Qty Units Rate Amounts SNo. E-block Miscellaneous works. Pay based on material cost. For small works less than Rs. 10,000/-, additional loss. 10,000/-, additional loss. 25% cam be paid on these rates. Item Description Size Qty Units Rate Amounts	5,160	172.00	0 No's	30.00	40.00	long bend	Inlet pipe connection from main line to OHT.	
MATE SHEET MRMLLP Approved by: ct: Gulmohar Residency Sign: ct: Culmohar Residency Sign: E-block inlet pipe connection from main lines to OHT. NA Sactor Name: Srujana NA Ired By Ahmed Khan NA 05.08.2025 NA NA SNo. Item Head Item Description Size Qty Units Rate	54,400	680.00	0 No's	80.0	40.00	CPVC pipe	E-block Miscellaneous works. Pay based on material l cost. For small works less than Rs. 10,000/-, additional 10 to 25% can be paid on these rates.	1
MRMLLP Approved by: ct: Gulmohar Residency Sign: ct: E-block inlet pipe connection from main lines to OHT. NA actor Name: Srujana NA ared By Ahmed Khan NA 05.08.2025 95.08.2025	Amount	Rate	Units	Qty	Size	Item Description	Item Head	S No.
MATE SHEET Approved by: pany Name: MRMLLP Approved by: ct: Gulmohar Residency Sign: cbescription: E-block inlet pipe connection from main lines to OHT. NA ared By Ahmed Khan NA 05.08.2025 05.08.2025								
SHEET Imme: MRMLLP Approved by: Gulmohar Residency Sign: ption: E-block inlet pipe connection from main lines to OHT. Vame: Srujana Ahmed Khan NA							05.08.2025	Date:
Approved by: Sign: NA			NA				Ahmed Khan	Prepared By
Approved by: Sign:			NA				e: Srujana	Contractor Name:
MRMLLP Approved by: Gulmohar Residency Sign:						Γ.	n: E-block inlet pipe connection from main lines to OH'	Work Description:
MRMLLP Approved by:			Sign:					Project:
ESTIMATE SHEET	Ahmed Khan		Approved by:					Company Name:
							BET	ESTIMATE SHEE

Allowance for Consumables Srujana Mallapur Hyderabad

Date: 05.08.2025

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

E-block plumbing inlet line connection.

Towards:

Bill for Consumables

S No.	Description	Amount
1.	E-block plumbing inlet line connection.	
	Total Amount = 16,829/-	3,365/-
	Work done from date 25.07.2025 to date 30.07.2025	

Amount in words: Three thousand three hundred and sixty five rupees only.

Sign:

Allowance for Equipment Srujana Mallapur Hyderabad

Date: 05.08.2025

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

E-block plumbing inlet line connection. Bill for Equipment

Towards:

S No.	Description	Amount
1.	E-block plumbing inlet line connection.	
	Total Amount = 16,829/-	Rs. 6,732/-
	Work done from date 25.07.2025 to date 30.07.2025	

Amount in words: Six thousand seven hundred and thirty two rupees only.

Sign:		

Allowance for Labour charges Srujana Mallapur Hyderabad

Date: 05.08.2025

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

E-block inlet line connection.

Towards:

Bill for Labour charges

S No.	Description	Amount
1.	E-block plumbing inlet line connection.	D (500/
	Total Amount = 16,829/-	Rs. 6,732/-
	Work done from date 25.07.2025 to date 30.07.2025	

Amount in words: Six thousand seven hundred and thirty two rupees only.

Sign:		
Sign:		